Generator nr 1

1kW
1250br/min
3x230V
50Hz

moc
predkosc obrotowa
napiecie
czestotliwosc¢



Generator nr 2

moc 2kW
predkosc¢ obrotowa  1760br/min
napiecie 3x230V

czestotliwos¢ 50Hz



Generator nr 3

moc 3kW
predkoscC obrotowa  2000br/min
napiecie 3x230V

czestotliwos¢ 50Hz



Generator nr 4

4kW
1760br/min
3x400V
50Hz

moc

predkosc¢ obrotowa
napiecie
czestotliwosc



Generator nr 5

5kw
1670br/min
3x400V
50Hz

moc
predkosc obrotowa
napiecie
czestotliwosc



Elektrownia 1 kW



Elektrownia 2 kW
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Elektrownia 3 kW



Elektrownia 4 kW
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Elektrownia 5 kW



